














Name: _______________________________________________

CODOMINANCE


Roan Horses & Erminette Chickens
INTRODUCTION

As you learned with incomplete dominance (remember pink snapdragon flowers?), nature does not always follow Mendel’s rules of genetics.  Heterozygous individuals ( R R’ )showed an in between phenotype – pink.  Now, in the case of codominance, another exception to Mendelian rules, both alleles of a gene are expressed in the phenotype. 

EXAMPLE

An example of codominance is seen in the roan coat in horses.  A roan coat consists of both black and white hairs.  Thus the coat appears blue colored rather than black or white.  
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Purebread Black (BB)



Purebread White (WW)


Roan (BW) – grey color

PROBLEMS

1.
What happens when you cross a black horse and a blue roan horse?

	
	

	
	






genotype ratio:
________________________________




phenotype ratio: ________________________________

2.
What happens when you cross two blue roan horses?

	
	

	
	






genotype ratio:
________________________________





phenotype ratio: ________________________________


3.
What happens when you cross a white horse with a blue roan horse?

	
	

	
	






genotype ratio:
________________________________





phenotype ratio: ________________________________

4.
In Erminette chickens, the gene for feather color has two codominant alleles - one for black feathers (B) and one for white feathers (W).  Thus heterozygous chickens have both types of feathers.  What happens when you cross a black chicken and an Erminette chicken?

	
	

	
	






genotype ratio:
________________________________





phenotype ratio: ________________________________

5.
Suppose you only have Erminette chickens.  Is it possible for you to produce white chickens?  Find the answer by completing the square below.

	
	

	
	






genotype ratio:
________________________________





phenotype ratio: ________________________________

6.
In humans, the genes for curly hair (C) and straight hair (S) are codominant.  When a person receives both the curly and straight genes, their hair appears wavy.  Suppose a wavy-haired man and a straight-haired woman have children.  What type of hair might their children have?  
	
	

	
	






genotype ratio:
________________________________





phenotype ratio: ________________________________


